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I 4z BiRE 4 ouT IN | GROSS | HDCP | NET
1 | SFIS < 42 40 82 13.00  69.0
26| R B2 39 39 18 9.0/ 69.0
3fr|/Bm —# 40 39 19 8.0 71.0
AL RE  TAER 39 44 83 1200 71.0
Shr| il ## 38 47 85 140 71.0
6 BR MEC 42 42 84/ 10.0/ 74.0
T EHE s 47 42 89 140 75.0
84z /Il B 43 44 87 12.00  75.0
9 AR & 42 43 85 10.00  75.0

1062 B Hi 42 47 89 1400 75.0
(R AR S 45 45 90| 14.0/ 76.0
1261 2X Rin 44 45 89 13.00 76.0
1367 b1l i 43 46 89 13.00 76.0
1461 &1k 1817 43 46 89 13.00 76.0
156 ATl RF 41 46 87 1.0 76.0
166| %A FiH 46 40 86 9.0/ 71.0
176 FR K1 44 44 88 1.0 77.0
18|18 & 41 43 90| 12.0/ 78.0
1961 /M8 IE 39 42 81 3.0 78.0
00 #A —@& 41 45 86 8.0 178.0
2141 BTEH 46 45 91 1200 79.0
2261 FA BLE 46 46 92 13.00  79.0
236 1LA ™) 44 44 88 8.0/ 80.0
M BmIR #E 41 42 83 3.0/ 80.0
2501 A#  4F=E 45 47 92 12.00  80.0
264 JLim Ik 46 48 94/  14.0/ 80.0
21 | BeiE = 44 47 91 1.0 80.0
28 sy —HA 4] 40 87 6.0 81.0
29 BIR 18X 45 45 90 9.0/ 81.0
304 R = 43 46 89 8.0/ 81.0
G  {Sth 46 46 92 10.0, 82.0
320 | FafE AR 43 49 92 10.0, 82.0
33 |/ iK5A 42 48 90 8.0 82.0
ML R75 ThiE 40 90 90 1.0 83.0
3% |JIIR  IEF 48 45 93 9.0/ 84.0
366 tkE B=E 49 46 95 11.00 84.0
37tz FFE  #Ei4n 48 48 96 11.0/ 85.0
3841 EHA £ 45 93 98 13.0  85.0
96| HH  FE4F o4 42 96 10.0/ 86.0
4041 #RIR & 45 90 95 8.0/ 8.0
MG SH BE 51 41 98| 10.0/ 88.0
421 HEx % 46 93 99 11.00 88.0
4361 Y FE 49 51 1000 110 89.0
4 TR BA 93 49 102 12.00  90.0
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